
ITEM DESCRİPTION Q'TY

1 M12 x 80 AA 4

2 M12 NUT 4

3 M8 x 25 AA 16

4
M8 SERRATED 

WASHER
16

5
BİNGO FOOT       

M8 x 25
4

3DX Gestell Medina  1500 * 720 cm * Ø 60

USE THE WRENCH


